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#include <iostream> Il &° 8> 8B 58 vi@vdy FiE 20
#include <algorithm> v @Y IS
using namespace std; double Compute::getMedian() {
class Compute { if (d_size%2==__(1) ) 11 (1)
public: returndata[___ (1) 1; 11 (1)
void setData(int *, int); else
double getMedian(); return (data[(d_size/2)-1]+(111) )/2.0; //(111)
double getMode(); }
private: IF Bl Yot L @A S > =
int *data, d_size; double Compute::getMode() {
/[ 218 key # map & ® 1% 5] //d_map[0] % 4+ Key, d_map[1] & &4F 5 &
int getIndex(int d[2][20], int key, int ¢) { int d_map[2][20]={0};
for (int i=0; i<c; i++) /ld_map #HcE
if (key==d[O][i]) return i; int map_count=0;
return -1; for (int i=0; i<d_size; i++) {
} int index =
[[3~8 B~ AF F (& e key getindex(d_map, data[i], map_count);
int getMaxValue(int d[2][20], int c) { if (index==(1V) ) { 11 (1V)
int maxKey = d[0][0]; d_map[0][map_count]=data[i];
int maxValue = d[1][0]; d_map[1][map_count++]=1;
for (int i=1; i<c; i++) }
if (maxValue<d[1][i]) { else
maxKey = d[0][i]; d_map[1][(V)]=d_map[1][index]+1; //(V)
maxValue = d[1][i]; }
} return getMaxValue(d_map,map_count);
return maxKey; }
} int main() {
}; int data[10] ={5, 3, -4, 3, -1, 5, -1, -3, 5, -2};
IRLZ TR T2 R Compute p;
void Compute::setData(int *d, int s) { p.setData(data, 10);
data =d; cout<<"Mean="<<p.getMedian()<<", ";
d _size =s; cout<<"Mode="<<p.getMode()<<endl;
sort(data, data+d_size); }
}




